15

20 The scale diagram below shows towns, A, B and C.
Line AB represents the road from A to B and line AC represents the road from A to C.

A shopping centre is to be built so that it is

J nearer to the road from A to B than the road from A to C,
. less than 14 km from town C.

(a) Using construction, shade the region where the shopping centre could be built.
Show all your construction lines.
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(b) Explain why the region found in part (a) may not be an appropriate site for the shopping
centre.
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